
AEG70−4A,21

Colorimetric filter transfer  n = 2
c*2  = a c*b with a = 1,00; b = 0,75

rgb −> rgb* rgb* −> rgb*2



AEG70−4A,22

Colorimetric filter transfer  n = 2
c*2  = a c*b with a = 1,00; b = 0,75

rgb −> rgb* rgb* −> rgb*2



AEG70−4A,23

Colorimetric filter transfer  n = 2
c*2  = a c*b with a = 1,00; b = 0,75

rgb −> rgb* rgb* −> rgb*2



AEG70−4A,24

Colorimetric filter transfer  n = 2
c*2  = a c*b with a = 1,00; b = 0,75

rgb −> rgb* rgb* −> rgb*2



AEG70−4A,25

Colorimetric filter transfer  n = 2
c*2  = a c*b with a = 1,00; b = 0,75

rgb −> rgb* rgb* −> rgb*2



AEG70−4A,26

Colorimetric filter transfer  n = 2
c*2  = a c*b with a = 1,00; b = 0,75

rgb −> rgb* rgb* −> rgb*2


